
KOQ T]NIVERSITY

MATH IO2

EXAM 1 November 1, 2018

Duration of Exam: 75 rninutes

INSTRUCTIONS:

o No calculators may be used on the test.

o No books, no notes, no questions, and no talking allowed.

o You must always explain your answers and SHOW YOUR WORK
to receive full credit.

r Print (use CAPITAL LETTERS) and sign your name. GOOD LUCK!
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Student ID no: L{ Y

Signature: -
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Problem 2 Finci the derivative of the function / in (u) (U)'
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Problem 4 (14 points) Let g(r) : 1* /r and

Sta Lt- {/(o) = 0 ;=) s4 * #

(f o s)(r): 3 * 2{1,+ r. Find .f'(2).

V

t)t+l=*-, '

^r..ll1-

t+ I = L r

( (f (")), 3rzffi I

{' {s 
(*l ) ;'1*) =

L) t'(r)-

{-'(r} ,

(,
# *,. /l

,e

\n

(

a
,)

I

(

,)
G ,/.

4[

I
L

>c

G)=L 4 t+.fx;t 1{7"=l*i {*L

Bul q'(x'j , -l* 1' ( t) = t

d' ;i ,/ L4 ix


